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Henry Tudor  
defeated Richard 
III at the Battle 
of Bosworth.  

Henry VII (Henry 
Tudor) married 
Elizabeth of York, 
uniting the      
Lancastrians and 
York houses and 
ending the Wars 
of the Roses (civil 
war).  

Henry VII’s son 
Arthur died,  
leaving a widow 
(Catherine of 
Aragon) and his 11 
year old brother 
Henry next in line 
to the throne.  

Henry VII died 
and is succeeded 
by his son Henry 
VIII. He married 
his brother’s  
widow, Catherine 
of Aragon to   
continue an     
alliance with 

Henry VIII    
married Anne 
Boleyn, following a 
divorce from 
Catherine of  
Aragon. Anne  
Boleyn gave birth 
to Elizabeth 

Henry VIII 
formed the 
Church of     
England,         
separating    
England from 
the Roman   
Catholic Church.  

Anne Boleyn was 
executed. Eleven 
days later Henry 
married Jane 
Seymour.  

Finally Henry 
VIII had his male 
heir – Edward was 
born, but a few 
days later Jane 
died 

Henry VIII died 
and was          
succeeded by 
Edward VI.  

Word Definition 

  

  

  

  

  

  

Henry VII 

Henry VIII   

Knowledge 

• Why there was a civil war in England and who it was between. 

• What happened at the Battle of Bosworth between Henry  
Tudor and Richard III. 

• How the civil war came to an end and the Tudor dynasty began. 

• The chronological reign of the  monarchs of the Tudor period 
and why Henry VIII is a memorable king.  

• Why Henry VIII started the Church of England and his      
orders for the catholic monasteries.  

• Use sources of evidence to understand what life was like in 
the Tudor period. 

• Consider whether sources of information/evidence lead to   
different conclusions. 

• The legacy of the Tudors and how it still impacts on Britain.  

A photo of a room in Hatfield House.  

Is this a primary or secondary source? 

What does this tell you about royal life 

in the Tudor period?   

Elizabeth I Mary I Edward VI 

Lineage to the 

throne 


